



Coupled Laplace-Decomposition Method for Solving Klein-Gordon Equation

Farah. F. Ghazi¹ & Tawfiq L. N. M.*

College of Education for Pure Science Ibn Al-Haitham, University of Baghdad, Baghdad, Iraq

*Author to whom correspondence should be addressed; E-Mail: luma.n.m@ihcoedu.uobaghdad.edu.iq

¹farah.f.g@ihcoedu.uobaghdad.edu.iq

Article history: Received 29 November 2019; Revised 3 February 2020; Accepted 15 February 2020; Published 20 February 2020.

Abstract: In this paper, we consider a new approach to solve type of partial differential equation by using coupled Laplace transformation with decomposition method to find the exact solution for non-linear non-homogenous equation with initial conditions. The reliability for suggested approach illustrated by solving model equations such as second order linear and nonlinear Klein-Gordon equation. The application results show the efficiency and ability for suggested approach.

Keyword: Partial differential equation, Klein - Gordon equation, Laplace transformation and decomposition method.

Mathematics Subject Classification (2010): 35E99, 35Q99, 35R99

1. Introduction

A differential equation is a mathematical equation that relates some function with its derivatives. In applications, the functions usually represent physical quantities, the derivatives represent their rates of change, and the differential equation defines a relationship between the two. Because such relations are extremely common, differential equations play a prominent role in many disciplines including engineering, physics, economics, and biology [1, 2]. Many physical and chemistry phenomena can be modeled using the language of calculus. For example, compute the

pollution of heavy metals in soil by using the mathematical model for that phenomena and when we solve that model we find the valued of pollution in soil by heavy metals for more details see [3-7].

There are many researches explain how to solve the partial differential equations using efficient method to get exact or approximate solution such ADM [8], VIM [9], HPM [10], and HAM [11]. In recent years many researchers used coupled method to solve types of PDEs such [12-16].

Here we solved important type of PDEs by combine Laplace transformation with ADM that is LT-ADM to find the exact solution for non-linear Klein - Gordon equation.

2. Klein - Gordon Equation

The Klein - Gordon equation it is one of the most important mathematical models in quantum field theory, appears in relativistic physics and described dispersive wave phenomena in general [2]. Here we used the suggested approach to solve this type of PDEs.

2.1. Solving Linear Klein - Gordon Equation

The standard form of linear Klein Gordon equation is given by

$$u_{tt}(x, t) - u_{xx}(x, t) + au(x, t) = h(x, t) \tag{1}$$

Where a is a constant and $h(x, t)$ is the source term with initial conditions

$$u(x, 0) = f(x), u_t(x, 0) = g(x) \tag{2}$$

To solve that equation 1 by using LT-ADM:

First we take the Laplace transformation for equation 1 to get:

$$L\{u_{tt}(x, t)\} - L\{u_{xx}(x, t)\} + aL\{u(x, t)\} = L\{h(x, t)\} \tag{3}$$

$$s^2L\{u(x, t)\} - s u(x, 0) - u_t(x, 0) - \frac{d^2}{dx^2}L\{u(x, t)\} + aL\{u(x, t)\} = L\{h(x, t)\}$$

Use the initial conditions in equation 3 to get:

$$s^2L\{u(x, t)\} - s f(x) - g(x) - \frac{d^2}{dx^2}L\{u(x, t)\} + aL\{u(x, t)\} = L\{h(x, t)\}$$

$$L\{u(x, t)\} = \frac{f(x)}{s} + \frac{g(x)}{s^2} + \frac{1}{s^2} \frac{d^2}{dx^2}L\{u(x, t)\} - \frac{a}{s^2}L\{u(x, t)\} + \frac{1}{s^2}L\{h(x, t)\}$$

Now, by using the decomposition representation as follow:

$$u(x, t) = \sum_{n=0}^{\infty} u_n(x, t) \tag{4}$$

$$L\{u_0(x, t)\} = \frac{f(x)}{s} + \frac{g(x)}{s^2} + \frac{1}{s^2} L\{h(x, t)\}$$

then, take the invers Laplace transformation to get $u_0(x, t)$

$$u_0(x, t) = f(x) + g(x) t + t L\{h(x, t)\}$$

$$L\{u_1(x, t)\} = \frac{1}{s^2} \frac{d^2}{dx^2} L\{u_0(x, t)\} - \frac{a}{s^2} L\{u_0(x, t)\}$$

⋮

$$L\{u_{k+1}(x, t)\} = \frac{1}{s^2} \frac{d^2}{dx^2} L\{u_k(x, t)\} - \frac{a}{s^2} L\{u_k(x, t)\}$$

Apply the invers Laplace transformation to find $u_1(x, t), u_2(x, t), \dots$

Now, we take illustration example as follow:

Example 1

Consider a homogenous linear Klein - Gordon equation

$$u_{tt} - u_{xx} + u = 0, \text{ with initial conditions } u(x, 0) = 0, u_t(x, 0) = x$$

Applying LT-ADM as follow

$$L\{u_{tt}\} - L\{u_{xx}\} + L\{u\} = 0$$

$$s^2 L\{u\} - s u(x, 0) - u_t(x, 0) - \frac{d^2}{dx^2} L\{u\} + L\{u\} = 0 \tag{5}$$

Using ICs equation 5 becomes

$$s^2 L\{u\} - x - \frac{d^2}{dx^2} L\{u\} + L\{u\} = 0$$

$$L\{u\} = \frac{x}{s^2} + \frac{1}{s^2} \frac{d^2}{dx^2} L\{u\} - \frac{L\{u\}}{s^2}$$

Now, using the decomposition representation for the dependent variable u:

$$u(x, t) = \sum_{n=0}^{\infty} u_n(x, t) \tag{6}$$

$$L\{u_0\} = \frac{x}{s^2}$$

take the invers Laplace transformation to get u_0

$$u_0 = x t$$

Hence,

$$L\{u_1\} = \frac{1}{s^2} \frac{d^2}{dx^2} L\{u_0\} - \frac{1}{s^2} L\{u_0\}$$

$$L\{u_1\} = -\frac{x}{s^4} \quad ; \text{so, } u_1 = -\frac{xt^3}{3!}$$

$$L\{u_2\} = \frac{1}{s^2} \frac{d^2}{dx^2} L\{u_1\} - \frac{1}{s^2} L\{u_1\}$$

$$L\{u_2\} = \frac{x}{s^6} \quad ; \quad u_2 = \frac{xt^5}{5!}$$

$$L\{u_3\} = \frac{1}{s^2} \frac{d^2}{dx^2} L\{u_2\} - \frac{1}{s^2} L\{u_2\}$$

$$L\{u_3\} = -\frac{x}{s^8} \quad ; \text{so, } u_3 = -\frac{xt^7}{7!}$$

$$L\{u_4\} = \frac{1}{s^2} \frac{d^2}{dx^2} L\{u_3\} - \frac{1}{s^2} L\{u_3\}$$

$$L\{u_4\} = \frac{x}{s^{10}} \quad , \text{so } u_4 = \frac{xt^9}{9!}$$

And so on

$$L\{u_{k+1}\} = \frac{1}{s^2} \frac{d^2}{dx^2} L\{u_k\} - \frac{L\{u_k\}}{s^2}$$

Depending on equation 6, we obtain

$$u(x, t) = u_0 + u_1 + u_2 + u_3 + u_4 \dots$$

$$\text{i.e., } u(x, t) = xt - \frac{xt^3}{3!} + \frac{xt^5}{5!} - \frac{xt^7}{7!} + \frac{xt^9}{9!} - \dots$$

$$u(x, t) = x \left(t - \frac{t^3}{3!} + \frac{t^5}{5!} - \frac{t^7}{7!} + \frac{t^9}{9!} - \dots \right)$$

The exact solution is $u(x, t) = x \sin x$

Example 2

Consider inhomogenous linear Klein - Gordon equation

$$u_{tt} - u_{xx} + u = 2 \sin x \quad , \text{ with initial conditions } u(x, 0) = \sin x \quad , \quad u_t(x, 0) = 1$$

applying Laplace transformation for the equation

$$L\{u_{tt}\} - L\{u_{xx}\} + L\{u\} = 2L\{\sin x\}$$

$$s^2 L\{u\} - s u(x, 0) - u_t(x, 0) - \frac{d^2}{dx^2} L\{u\} + L\{u\} = \frac{2 \sin x}{s}$$

Using initial conditions to get:

$$s^2 L\{u\} - s \sin x - 1 - \frac{d^2}{dx^2} L\{u\} + L\{u\} = \frac{2 \sin x}{s}$$

$$L\{u\} = \frac{\sin x}{s} + \frac{1}{s^2} + \frac{2 \sin x}{s^3} + \frac{1}{s^2} \frac{d^2}{dx^2} L\{u\} - \frac{a}{s^2} L\{u\}$$

Now, we using the decomposition representation for dependent variable u

$$u(x, t) = \sum_{n=0}^{\infty} u_n(x, t) \tag{7}$$

$$L\{u_0\} = \frac{\sin x}{s} + \frac{1}{s^2} + \frac{2 \sin x}{s^3}$$

take the invers Laplace transformation to get u_0

$$u_0 = \sin x + t + t^2 \sin x$$

$$L\{u_1\} = \frac{1}{s^2} \frac{d^2}{dx^2} L\{u_0\} - \frac{1}{s^2} L\{u_0\}$$

$$L\{u_1\} = -\frac{2 \sin x}{s^5} - \frac{\sin x}{s^3} - \left(\frac{\sin x}{s^2} + \frac{1}{s^4} + \frac{2 \sin x}{s^5} \right)$$

$$L\{u_1\} = -\frac{4 \sin x}{s^5} - \frac{2 \sin x}{s^3} - \frac{1}{s^4}$$

$$u_1 = -\frac{t^4 \sin x}{3!} - t^2 \sin x - \frac{t^3}{3!}$$

$$L\{u_2\} = \frac{1}{s^2} \frac{d^2}{dx^2} L\{u_1\} - \frac{1}{s^2} L\{u_1\}$$

$$L\{u_2\} = \frac{4 \sin x}{s^7} + \frac{2 \sin x}{s^5} - \left(-\frac{4 \sin x}{s^7} - \frac{2 \sin x}{s^5} - \frac{1}{s^6} \right)$$

$$L\{u_2\} = \frac{8 \sin x}{s^7} + \frac{4 \sin x}{s^5} + \frac{1}{s^6}$$

$$u_2 = \frac{8t^6 \sin x}{6!} + \frac{t^4 \sin x}{3!} + \frac{t^5}{5!}$$

$$L\{u_3\} = \frac{1}{s^2} \frac{d^2}{dx^2} L\{u_2\} - \frac{1}{s^2} L\{u_2\}$$

$$L\{u_3\} = -\frac{8 \sin x}{s^9} - \frac{4 \sin x}{s^7} - \left(\frac{8 \sin x}{s^9} + \frac{4 \sin x}{s^7} + \frac{1}{s^8} \right)$$

$$L\{u_3\} = -\frac{16 \sin x}{s^9} - \frac{8 \sin x}{s^7} - \frac{1}{s^8}$$

$$u_3 = -\frac{16t^8 \sin x}{8!} - \frac{8t^6 \sin x}{6!} - \frac{t^7}{7!}$$

$$L\{u_4\} = \frac{1}{s^2} \frac{d^2}{dx^2} L\{u_3\} - \frac{1}{s^2} L\{u_3\}$$

$$L\{u_4\} = \frac{16 \sin x}{s^{11}} + \frac{8 \sin x}{s^9} - \left(-\frac{16 \sin x}{s^{11}} - \frac{8 \sin x}{s^9} - \frac{1}{s^{10}} \right)$$

$$L\{u_4\} = \frac{32 \sin x}{s^{11}} + \frac{16 \sin x}{s^9} + \frac{1}{s^{10}}$$

$$u_4 = \frac{32 t^{10} \sin x}{10!} + \frac{16 t^8 \sin x}{8!} + \frac{t^9}{9!}$$

And so on

$$L\{u_{k+1}\} = \frac{1}{s^2} \frac{d^2}{dx^2} L\{u_k\} - \frac{L\{u_k\}}{s^2}$$

Depending on equation 7, we have:

$$u(x, t) = u_0 + u_1 + u_2 + u_3 + u_4 \dots$$

$$u(x, t) = \sin x + t + t^2 \sin x - \frac{t^4 \sin x}{3!} - t^2 \sin x - \frac{t^3}{3!} + \frac{8t^6 \sin x}{6!} + \frac{t^4 \sin x}{3!} + \frac{t^5}{5!} - \frac{16t^8 \sin x}{8!} - \frac{8t^6 \sin x}{6!} - \frac{t^7}{7!} - \frac{32 t^{10} \sin x}{10!} + \frac{16t^8 \sin x}{8!} + \frac{t^9}{9!} - \dots$$

$$u(x, t) = \sin x + t - \frac{t^3}{3!} + \frac{t^5}{5!} - \frac{t^7}{7!} + \frac{t^9}{9!} - \dots$$

So, the exact solution is $u(x, t) = \sin x + \sin t$

2.2. Solving Nonlinear Klein Gordon Equation

The standard form of nonlinear Klein Gordon equation is

$$u_{tt}(x, t) - u_{xx}(x, t) + au(x, t) + F(u(x, t)) = h(x, t) \tag{8}$$

where a is constant, $h(x, t)$ is the source term and $F(u(x, t))$ is nonlinear function of $u(x, t)$. With initial conditions:

$$u(x, 0) = f(x), \quad u_t(x, 0) = g(x) \tag{9}$$

To solve equation 8, by using LT-ADM, first we take the Laplace transformation for equation (8) to get

$$L\{u_{tt}(x, t)\} - L\{u_{xx}(x, t)\} + aL\{u(x, t)\} + L\{F(u(x, t))\} = L\{h(x, t)\}$$

$$s^2 L\{u(x, t)\} - s u(x, 0) - u_t(x, 0) - \frac{d^2}{dx^2} L\{u(x, t)\} + aL\{u(x, t)\} + L\{F(u(x, t))\} = L\{h(x, t)\}$$

Take the initial conditions in equation 3 we get

$$s^2 L\{u(x, t)\} - s f(x) - g(x) - \frac{d^2}{dx^2} L\{u(x, t)\} + aL\{u(x, t)\} + L\{F(u(x, t))\} = L\{h(x, t)\}$$

$$L\{u(x, t)\} = \frac{f(x)}{s} + \frac{g(x)}{s^2} + \frac{1}{s^2} \frac{d^2}{dx^2} L\{u(x, t)\} - \frac{a}{s^2} L\{u(x, t)\} - \frac{1}{s^2} L\{F(u(x, t))\} + \frac{1}{s^2} L\{h(x, t)\}$$

Now, using the decomposition representation for dependent variable:

$$u(x, t) = \sum_{n=0}^{\infty} u_n(x, t) \tag{10}$$

The nonlinear form is decomposed as follow:

$$F(u(x, t)) = \sum_{n=0}^{\infty} A_n \tag{11}$$

Where A_n is Adomian polynomials can be computed by using the formula

$$A_n = \frac{1}{n!} \frac{d^n}{d\lambda^n} \left[F \sum_{i=0}^{\infty} (\lambda^i u_i) \right]_{\lambda=0}, n = 0, 1, 2, \dots \tag{12}$$

$$L\{u(x, t)\} = \frac{f(x)}{s} + \frac{g(x)}{s^2} + \frac{1}{s^2} \frac{d^2}{dx^2} L\{u(x, t)\} - \frac{a}{s^2} L\{u(x, t)\} - \frac{1}{s^2} L\left\{ \sum_{n=0}^{\infty} A_n \right\} + \frac{1}{s^2} L\{h(x, t)\}$$

$$L\{u_0(x, t)\} = \frac{f(x)}{s} + \frac{g(x)}{s^2} + \frac{1}{s^2} L\{h(x, t)\}$$

Now, applied the invers Laplace transformation to get $u_0(x, t)$

$$u_1(x, t) = f(x) + g(x) t + t L\{h(x, t)\}$$

$$L\{u_1(x, t)\} = \frac{1}{s^2} \frac{d^2}{dx^2} L\{u_0(x, t)\} - \frac{a}{s^2} L\{u_0(x, t)\} - \frac{1}{s^2} L\{A_0\}$$

$$L\{u_2(x, t)\} = \frac{1}{s^2} \frac{d^2}{dx^2} L\{u_1(x, t)\} - \frac{a}{s^2} L\{u_1(x, t)\} - \frac{1}{s^2} L\{A_1\}$$

And so on

$$L\{u_{k+1}(x, t)\} = \frac{1}{s^2} \frac{d^2}{dx^2} L\{u_k(x, t)\} - \frac{a}{s^2} L\{u_k(x, t)\} - \frac{1}{s^2} L\{A_k\}$$

Apply the invers Laplace transformation to find the $u_1(x, t), u_2(x, t), \dots$

Now, we illustrate the above steps by solve the following example

Example 3

Consider nonlinear nonhomogeneous Klein - Gordon equation

$$u_{tt} - u_{xx} + u^2 = x^2 t^2, \text{ with initial conditions } u(x, 0) = 0, u_t(x, 0) = x$$

Firstly, apply Laplace transformation

$$L\{u_{tt}\} - L\{u_{xx}\} + L\{F(u(x, t))\} = L\{x^2 t^2\}$$

$$s^2L\{u\} - s u(x, 0) - u_t(x, 0) - \frac{d^2}{dx^2}L\{u\} + L\{F(u(x, t))\} = \frac{2x^2}{s^3}$$

Using ICs to get

$$s^2L\{u\} - x - \frac{d^2}{dx^2}L\{u\} + L\{F(u(x, t))\} = \frac{2x^2}{s^3}$$

$$L\{u\} = \frac{x}{s^2} + \frac{2x^2}{s^5} + \frac{1}{s^2} \frac{d^2}{dx^2}L\{u\} - \frac{1}{s^2}L\{F(u(x, t))\}$$

Now, using the decomposition representation for u such:

$$u(x, t) = \sum_{n=0}^{\infty} u_n(x, t) \tag{13}$$

$$L\{u_0\} = \frac{x}{s^2} + \frac{2x^2}{s^5}$$

Then, apply the invers Laplace transformation to get u_0

$$u_0 = xt + \frac{x^2t^4}{12}$$

$$L\{u_1\} = \frac{1}{s^2} \frac{d^2}{dx^2}L\{u_0\} - \frac{1}{s^2}L\{F(u_0(x, t))\}$$

Now, calculate the nonlinear form as

$$F(u(x, t)) = \sum_{n=0}^{\infty} A_n \tag{14}$$

Where A_n are Adomian polynomials computed by:

$$A_n = \frac{1}{n!} \frac{d^n}{d\lambda^n} \left[F \sum_{i=0}^{\infty} (\lambda^i u_i) \right]_{\lambda=0}, \quad n = 0, 1, 2, \dots \tag{15}$$

$$\text{So, } L\{u_1\} = \frac{1}{s^2} \frac{d^2}{dx^2} \left[\frac{x}{s^2} + \frac{2x^2}{s^5} \right] - \frac{1}{s^2} L\{A_0\}$$

$$L\{u_1\} = \frac{4}{s^7} - \frac{1}{s^2} L\{u_0^2\}$$

$$L\{u_1\} = \frac{4}{s^7} - \frac{1}{s^2} L \left\{ x^2t^2 + \frac{x^3t^5}{6} + \frac{x^4t^8}{144} \right\}$$

$$L\{u_1\} = \frac{4}{s^7} - \frac{2x^2}{s^5} - \frac{20x^3}{s^8} - \frac{280x^4}{s^{11}}$$

$$u_1 = \frac{4t^6}{6!} - \frac{2x^2t^4}{4!} - \frac{20x^3t^7}{7!} - \frac{280x^4t^{10}}{10!}$$

$$u_1 = \frac{t^6}{180} - \frac{x^2t^4}{12} - \frac{x^3t^7}{252} - \frac{x^4t^{10}}{12960}$$

$$L\{u_2\} = \frac{1}{s^2} \frac{d^2}{dx^2}L\{u_1\} - \frac{1}{s^2}L\{F(u_1(x, t))\}$$

$$L\{u_2\} = \frac{1}{s^2} \frac{d^2}{dx^2} \left[\frac{4}{s^7} - \frac{2x^2}{s^5} - \frac{20x^3}{s^8} - \frac{280x^4}{s^{11}} \right] - \frac{1}{s^2} L\{A_1\}$$

$$L\{u_2\} = -\frac{4}{s^7} - \frac{120x}{s^{10}} - \frac{3360x^2}{s^{13}} - \frac{1}{s^2} L\{2u_0u_1\}$$

$$L\{u_2\} = -\frac{4}{s^7} - \frac{120x}{s^{10}} - \frac{3360x^2}{s^{13}} - \frac{2}{s^2} L\left\{ \left(xt + \frac{x^2t^4}{12} \right) \left(\frac{t^6}{180} - \frac{x^2t^4}{12} - \frac{x^3t^7}{252} - \frac{x^4t^{10}}{12960} \right) \right\}$$

$$L\{u_2\} = -\frac{4}{s^7} - \frac{120x}{s^{10}} - \frac{3360x^2}{s^{13}} - \frac{2}{s^2} L\left\{ \left(\frac{xt^7}{180} - \frac{x^3t^5}{12} - \frac{x^4t^8}{252} - \frac{x^5t^{11}}{12960} + \frac{x^2t^{10}}{2160} - \frac{x^4t^8}{144} - \frac{x^5t^{11}}{3024} - \frac{x^6t^{14}}{15120} \right) \right\}$$

$$L\{u_2\} = -\frac{4}{s^7} - \frac{120x}{s^{10}} - \frac{3360x^2}{s^{13}} - \frac{2}{s^2} \left(\frac{28x}{s^8} - \frac{10x^3}{s^6} - \frac{8!x^4}{252s^9} - \frac{11!x^5}{12960s^{12}} + \frac{10!x^2}{2160s^{11}} - \frac{8!x^4}{144s^9} - \frac{11!x^5}{3024s^{12}} - \frac{14!x^6}{15120s^{15}} \right)$$

$$L\{u_2\} = -\frac{4}{s^7} - \frac{120x}{s^{10}} - \frac{3360x^2}{s^{13}} - \frac{56x}{s^{10}} + \frac{20x^3}{s^8} + \frac{8!x^4}{126s^{11}} + \frac{11!x^5}{6480s^{14}} - \frac{10!x^2}{1080s^{13}} + \frac{8!x^4}{72s^{11}} + \frac{11!x^5}{1512s^{14}} + \frac{14!x^6}{7560s^{17}}$$

$$L\{u_2\} = -\frac{4}{s^7} - \frac{120x}{s^{10}} - \frac{3360x^2}{s^{13}} - \frac{56x}{s^{10}} + \frac{20x^3}{s^8} + \frac{320x^4}{s^{11}} + \frac{6160x^5}{s^{14}} - \frac{3360x^2}{s^{13}} + \frac{560x^4}{s^{11}} + \frac{26400x^5}{s^{14}} + \frac{11531520x^6}{s^{17}}$$

$$L\{u_2\} = -\frac{4}{s^7} + \frac{20x^3}{s^8} - \frac{176x}{s^{10}} + \frac{880x^4}{s^{11}} - \frac{6720x^2}{s^{13}} + \frac{32560x^5}{s^{14}} + \frac{11531520x^6}{s^{17}}$$

$$u_2 = -\frac{4t^6}{6!} + \frac{20x^3t^7}{7!} - \frac{176xt^9}{9!} + \frac{880x^4t^{10}}{10!} - \frac{6720x^2t^{12}}{12!} + \frac{32560x^5t^{13}}{13!} + \frac{11531520x^6t^{16}}{16!}$$

$$u_2 = -\frac{t^6}{180} + \frac{x^3t^7}{252} - \frac{11xt^9}{75600} + \frac{x^4t^{10}}{12960} - \frac{x^2t^{12}}{71280} + \frac{37x^5t^{13}}{7076160} + \frac{x^6t^{16}}{1814400}$$

And so on, then depending on equation 13 we have

$$u(x, t) = u_0 + u_1 + u_2 + u_3 + u_4 \dots$$

$$u(x, t) = xt + \frac{x^2t^4}{12} + \frac{t^6}{180} - \frac{x^2t^4}{12} - \frac{x^3t^7}{252} - \frac{x^4t^{10}}{12960} - \frac{t^6}{180} + \frac{x^3t^7}{252} - \frac{11xt^9}{75600} + \frac{x^4t^{10}}{12960} - \frac{x^2t^{12}}{71280} + \frac{37x^5t^{13}}{7076160} + \frac{x^6t^{16}}{1814400} + \dots$$

Here we have noise terms which are

$$\frac{x^2t^4}{12}, \frac{t^6}{180}, -\frac{x^3t^7}{252}, \frac{x^4t^{10}}{12960}, \frac{x^3t^7}{252}, \frac{11xt^9}{75600}, \frac{x^2t^{12}}{71280}, \frac{37x^5t^{13}}{7076160}, \frac{x^6t^{16}}{1814400} \text{ and } \dots \text{ so on}$$

So, the remaining noncanceled term which it satisfies the equation, that is the exact solution is

$$u(x, t) = xt$$

3. Conclusions

In this paper, new approach suggested for solving important type of non-linear non-homogenous PDFs, based on combine Laplace transformation with Adomian decomposition method to get exact solution. The proposed approach shows that it is in good agreement with the other methods solution and it is better than ADM. The experimental results show that the LT-ADM is computationally efficient for solving non-linear evolution problems and can easily be implemented without using computer.

References

- [1] Polyanin A, Zaitsev V. *Hand book of Nonlinear Differential Equations*. Taylor & Francis Group. 2nd Edition. 2012.
- [2] Waswas AM. *Partial differential equations and solitary waves theory*. Springer. 2nd Edition. Beijing and berlin. 2009. ISBN978-3-642-00250-2.
- [3] Tawfiq LNM, Ghazi FF. Heavy metals pollution in soil and its influence in south Iraq. *International Journal of Discrete Mathematics*. 2(3)(2017): 59-63.
- [4] Tawfiq LNM, Jabber AK. Mathematical Modeling of Groundwater Flow. *Global Journal of Engineering Science and Researches*. 3(10)(2016): 15-22.
- [5] Tawfiq LNM, Jasim KA, Abdul hmeed EO. Numerical Model for Estimation the Concentration of Heavy Metals in Soil and Its Application in Iraq. *Global Journal of Engineering Science and Researches*. 3(3)(2016): 75 - 81.
- [6] Tawfiq LNM, Jasim KA, Abdulhmeed EO, Pollution of Soils by Heavy Metals in East Baghdad in Iraq. *International Journal of Innovative Science, Engineering & Technology*. 2(6)(2015): 181-187.
- [7] Tawfiq LNM, Jasim KA, Abdul hammed EO. Mathematical Model for Estimation the Concentration of Heavy Metals in Soil for Any Depth and Time and its Application in Iraq. *International Journal of Advanced Scientific and Technical Research*. 4(5)(2015): 718 - 726.
- [8] Adomian G. *Solving Frontier Problems of Physics: The Decomposition Method*, Kluwer Academic Publishers. 3rd Edition. Boston, MA, 1994.
- [9] He JH. Variational Iteration Method: New development and Applications. *Computers and Mathematics with Applications*. 54(2007): 881-894.
- [10] He JH. Homotopy perturbation technique. *Comput. Meth. Appl. Mech. Eng.*, 178(1999): 257-262.
- [11] Enadi MO, Tawfiq LNM. Solving Systems of Non-linear Partial differential Equations by Using Coupled Method. *International Journal of Modern Mathematical Sciences*. 17(1)(2019): 68-77.

- [12] Suheil, A. K., A Laplace Decomposition Algorithm Applied to a Class of nonlinear Ordinary Differential Equations, *Journal of Applied Mathematics*, 1(2001)(4): 141-155.
- [13] Alquran, M.; AL-Khaled, K.; Ali, M., The Combined Laplace Transformation-Differential Transform Method for Solving Linear Non- Homogeneous PDFs, *J. Math. Comp. Sci.* 2(2012)(3): 690-701.
- [14] Tawfiq LNM. New Technique for Solving Autonomous Equations. *Ibn Al-Haitham Journal For pure & Applied Sciences.* 32(2)(2019): 123-130.
- [15] Salih H, Tawfiq LNM, Yahya ZRI, Zin SM. Solving Modified Regularized Long Wave Equation Using Collocation Method. *Journal of Physics: Conference Series.* 1003(012062) (2018): 1-10.
- [16] Tawfiq LNM, Jabber A K. Steady State Radial Flow in Anisotropic and Homogenous in Confined Aquifers. *Journal of Physics: Conference Series.* 1003(012056)(2018): 1-12.
- [17] Tawfiq LNM, Hilal MM. Solution of 2nd Order Nonlinear Three-Point Boundary Value Problems by Semi-Analytic Technique. *IHJPAS.* 27(3)(2017).